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Relação do aço

2xP1 10xP2 2xP8
2xP9 5xP13 3xP14
2xP21 2xP22 2xP23
P36 P37

AÇO N DIAM
(mm)

QUANT C.UNIT
(cm)

C.TOTAL
(cm)

CA60 1 5.0 1050 106 111300
2 5.0 385 28 10780
3 5.0 84 28 2352
4 5.0 38 148 5624
5 5.0 76 39 2964

CA50 6 10.0 120 407 48840
7 10.0 20 443 8860
8 12.5 50 407 20350

Resumo do aço

AÇO DIAM
(mm)

C.TOTAL
(m)

PESO + 10 %
(kg)

CA50

CA60

10.0
12.5

5.0

577
203.5

1330.2

391.3
215.6
225.5

PESO TOTAL
(kg)

CA50
CA60

607
225.5

Volume de concreto (C-30) = 10.27 m³
Área de forma = 156.54 m²


